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      (Time : 2 hours)     Marks : 60 

 

N.B.: 1. Figures to the right indicates full marks. 

 2. Draw neat and labeled diagram wherever necessary. 

 

Q. 1. Answer the following questions.      (10) 

       a) Explain factors inhibiting industrialization. 

OR 

       b) Discuss on problems of public sector industries in India. 

     Q. 2. Answer the following questions.      (10) 

       a) What is product differentiation? Explain its types. 

OR 

       b) Define economies of scale. Explain internal economies and diseconomies. 

Q. 3. Answer the following questions.      (10) 

       a) Discuss on Internal and External sources of industrial finance  

OR 

       b) Explain role of Small industries development bank of India. 

Q. 4. Answer the following questions.      (10) 

      a) Explain causes and measures of industrial imbalance in India. 

OR 

      b) Explain Sargent Florence theory of industrial location. 

Q. 5. Write short notes.        (20) 

a) Industrial Development under Plans in India 

b) Contestable Market 

c) Industrial Development Bank of India 

d) Factors affecting industrial Location 

   OR 

Q. 5. Solve the following MCQs.       (20) 

1) The first ever Industrial policy Regulation of India announced in the year ______. 

a) 1948 b) 1956  c) 1991  d) 2014  

2) To solve the balance of payment crisis in 1991, the Indian Rupee was ________ against 

foreign Currencies. 

a) devalued  b) appreciated   c) depreciated  d) revalued 

3) Under whose government the new economic policy 1991 was introduces? 

a) P.V. Narsasimha Rao    b) Rajiv Gandhi c) Indira Gandhi  d) Narendra Modi  
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4) Which among the following is not the factor to determine localization of industries? 

a) Gross income b) Natural resources c) Financial resources d) Religious factors 

5) The LPG implies ………. 

a) Liberalization, Privatization, Globalisation b) Limited Public Group  

c) Lively People’s Gathering   d) Lonely Public Ground 
 

6) In monopolistic competition there are ______ number of sellers. 

 a) many  b) large  c) few  d) one 

7) _________ is a one of feature of monopolistic competition. 

a) Product differentiation    b) Price differentiation    c) Colour Differentiation   d) Size 

differentiation 

8) A contestable market is a market where companies can enter and leave freely with low 

_______. 

 a) Sunk Cost b) economic cost c) implicit cost  d) explicit cost 

9) Internal economies of scale are based on ________ decisions. 

 a) management b) outside factors c) production  d) demand 

10) ______ of scale are achieved because of external factors, or factors that affect an entire 

industry. 

a) External economies b) Internal economies   c) External diseconomies   d) Internal 

diseconomies 

11) Internal sources of finance does not include ____________. 

a) Loan from banks     b) Sale of Stock c) Sale of Fixed Assets    d) Retained 

Earnings and Debt Collection 

12) External sources of finance does not include ____________. 

 a) Sale of Stock     b) Loan from banks c) Preference Shares   d) Public Deposits 

13) Full form of IFCI  

a) International Finance Corporation of India  b) Internal Finance Corporation of India       

c) International finance co-operative of India  d) Internal Finance Co-operative of India 

14) Institutional finance does not include __________. 

a) Money Lenders  b) Commercial Banks c) Investment Banks d) Insurance Companies 

15) The SIDBI was established on ___________ by Government of India 

a) April 02, 1990 b) April 02, 1991 c) April 02, 1995 d) April 02, 2014 

16) The second five-year plan emphasised more on setting up heavy industries based on 

__________ model. 

a) P.C. Mahalanobis b) Amartya Sen  c) Adam Smith  d) Keynes 
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17) Industrialization is the transformation of a society from ________ to an industrial 

economy. 

a) Agrarian b) Industry  c) Service d) Historical 

 

18) The first Industrial Revolution began in _________ in the 1700s and 1800s and was a 

time of significant innovation. 

a) America b) Germany  c) Japan d) Great Britain 

19) The industrial policy resolution of _______, which introduced the concept of a mixed 

economy.  

a) 1948  b) 1969  c) 1991  d) 2014 

20) The industrial licensing had been abolished for all project except for a short list of the 

industries through the amendment in new economic policy _________. 

a) 1991  b) 1956  c) 1948  d) 2014  

 

 

********************** 

  

Paper / Subject Code: 99684 / Economics: Industrial Economics (Rev.)

EC1A84063A523ADB0D1ABD5F34D67069

m
unote

s.i
n



EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

EC
1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9E
C1A

84
06

3A
52

3A
D

B0D
1A

BD
5F

34
D

67
06

9

34622 Page 4 of 5 

 

मराठी रूपाांतर 

सचूना.: १. उजवीकडील अांक गणु दर्शववतात. 

 २. आवश्यक तथे ेसबुक आकृत्या काढा.  

 ३. सांदर्ाशसाठी मळू इांग्रजी प्रश्नपविका पहा. 

 

प्र, १) खालील प्रश्नाांची उत्तरे वलहा.        (१०) 

अ) औध्योवगकीकरणाला बाधा आणणारे घटक स्पष्ट करा. 

ककवा 

       ब)  र्ारतातील सावशजवनक क्षेिातील उद्योगाांच्या समस्या. चचाश करा.      

प्र. २) खालील प्रश्नाांची उत्तरे वलहा.        (१०) 

अ) उत्पादन वर्न्नता म्हणजे काय? त्याचे प्रकार स्पष्ट करा. 

ककवा 

       ब) वमतव्ययता म्हणज ेकाय? अांतगशत वमतव्ययता आवण अवमतव्ययता स्पष्ट करा. 

प्र. ३) खालील प्रश्नाांची उत्तरे वलहा.        (१०) 

अ) औद्योवगक ववत्ताचे अांतगशत आवण बाह्य स्त्रोत यावर चचाश करा, 

ककवा 

       ब) र्ारतीय लघ ुउद्योग ववकास बँकेची (SIDBI) रू्वमका स्पष्ट करा. 

प्र. ४) खालील प्रश्नाांची उत्तरे वलहा.        (१०) 

       अ) र्ारतातील औद्योवगक असमतोलाची कारणे आवण उपाययोजना स्पष्ट करा. 

ककवा 

       ब) औद्योवगक स्थावनकरणाचा साजेट फ्लोरेन्स याांचा वसद्ाांत स्पष्ट करा 

प्र. ५) टटपा वलहा.                            (२०) 

अ) र्ारतातील वनयोजन काळातील औद्योवगक ववकास 

       ब) स्पधाशत्मक बाजार 

       क) र्ारताची औद्योवगक ववकास बँक 

       ड) औद्योवगक स्थानवनवितीवर पटरणाम करणारे घटक 

ककवा 

प्र. ५) खालील बहुपयाशयी प्रश्न सोडवा.                          (२०) 

     १. र्ारतातील पवहल ेऔद्योवगक वनयमन धोरण ______ या वर्षी जाहीर करण्यात आले. 

     अ) १९४८  ब) १९५६  क) १९९१  ड) २०१४ 

     २. १९९१ मधील व्यवहार र्ेर्ष सांकट सोडववण्यासाठी ववदेर्ी चलनाच्या तलुनते रुपयाचे _____ करण्यात   

             आल.े 

अ) अवमूल्यन ब) प्रर्ांसा  क) घसारा  ड) पुनमुशल्याांकण 

३. नवीन आर्थथक धोरण १९९१ कोणत्या सरकारच्या काळात लागू करण्यात आल?े 

अ) पी. व्ही. नरससहा राव ब) राजीव गाांधी  क) इांददरा गाांधी   ड) नरेंद्र मोदी  

४. खाकीलपैकी कोणता घटक उद्योगाांचे स्थावनयीकरण करणारा नाही? 

अ) एकूण उत्पन्न ब) नैसर्थगक सांसाधने क) आर्थथक सांसाधन े ड) धार्थमक घटक 

५. LPG म्हणजे 

अ) Liberalization, Privatization, Globalization ब) Limited Public Group 

क) Lively People’s Gathering   ड) Lonely Public Ground 
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६. मके्तदारीयकु्त स्पधेत _________ ववके्रते असतात. 

अ) अनेक ब) असांख्य क) कमी ड) एक 

७. _______ ह ेएक मके्तदारीयकु्त स्पधेचे वैवर्ष्ट्य आह.े 

अ) उत्पादन वर्न्नता ब) मूल्य रे्द क) रांग रे्द ड) आकार रे्द 

८. स्पधाशत्मक बाजार हा एक असा बाजार आह ेजेथे पेढ्या कमी _______ सह मुक्तपणे प्रवेर् करू र्कतात 

आवण वनगशमन करू र्कतात. 

अ) बुडीत खचश ब) आर्थथक खचश क) वनवहत खचश  ड) स्पष्ट खचश 

९. अांतगशत वमतव्ययता _______ च्या वनणशयाांवर आधाटरत असतात. 

अ) व्यवस्थापन ब) बाह्य घटक क) उत्पादन ड) मागणी 

१०. बाह्य घटकाांमुळे ककवा सांपणूश उद्योगाला प्रर्ाववत करणार् या घटकाांमुळे ______ प्रमाण गाठल ेजाते. 

अ) बाह्य वमतव्ययता ब) अांतगशत वमतव्ययता    क) बाह्य अवमतव्ययता   ड) अांतगशत अवमतव्ययता 

११. अांतगशत ववत्तीय स्त्रोतात अांतर्ूशत नसत.े 

अ) बँकाकडील कजे ब) स्टॉकची ववक्री  क) वस्थर मालमते्तची ववक्री  ड) राखून ठेवललेी 

वमळकत आवण कजश वसूली 

१२.बाह्य ववत्तीय स्त्रोतात अांतरू्शत नसत.े 

अ) स्टॉकची ववक्री ब) बँकाकडील कजे क) प्राधान्य र्ेअसश   ड) सावशजवनक ठेवी 

१३. IFCI चे पूणश रूप 

अ) र्ारतीय आांतरराष्ट्रीय ववत्त महामांडळ  ब) र्ारतीय अांतगशत ववत्त महामांडळ     

क) र्ारतीय आांतरराष्ट्रीय ववत्त सहकार  ड) र्ारतीय अांतगशत ववत्त सहकार 

१४. सांस्थात्मक ववत्तात समाववष्ट होत नाही. 

अ) सावकार  ब) व्यापारी बँक  क) गुांतवणूक बँक  ड) ववमा कां पन्या 

१५. र्ारत सरकारन ेSIDBI स्थापना ___________ या ददवर्ी केली. 

            अ) ०२ एवप्रल, १९९० ब) ०२ एवप्रल, १९९१ क) ०२ एवप्रल, १९९५ ड) ०२ एवप्रल, २०१४ 

      १६. दसुर् या पांचवार्थर्षक योजनेत _______ याांच्या प्रवतमानावर आधाटरत अवजड उद्योग उर्ारण्यावर र्र     

               देण्यात आला. 

अ) पी.सी. महालनोवबस ब) अमत्यश सने क) अडॅम वस्मथ  ड) केन्स 

     १७.औद्योगीकरण म्हणजे ___________ समाजाचे औद्यवगक अथशव्यवस्थेत पटरवतशन होय. 

अ) कृवर्ष ब) उद्योग क) सेवा  ड) ऐवतहावसक 

१८.  पवहली औद्योवगक क्राांवत ______ मध्ये १७०० आवण १८०० मध्य ेसुरु झाली, आवण तो महत्वपूणश 

नवकल्पनाांचा काळ होता. 

अ) अमेटरका  ब) जमशनी क) जपान ड) ग्रेट विटन  

१९. __________ या औद्योवगक धोरणात वमश्र अथशव्यवस्था ही सांकल्पना माांडली. 

अ) १९४८  ब) १९६९ क) १९९१ ड) २०१४ 

२०. नवीन आर्थथक धोरण ________ मधील दरुुवस्थद्वारे उद्योगाांची छोटी यादी वगळता सवश प्रकल्पाांसाठी 

औद्योवगक परवाना रद्द करण्यात आला. 

अ) १९९१ ब) १९५६ क) १९४८ ड) २०१४ 

 

****************** 

 

 

Paper / Subject Code: 99684 / Economics: Industrial Economics (Rev.)

EC1A84063A523ADB0D1ABD5F34D67069

m
unote

s.i
n


